[d° sum p_/dndg[GeV]

Ratio to ATLAS

T

o
&

w

N
&

1.5

0.5

0.5

900 GeV p

Underlying Event

[T I | I I I | I I I | I I | I _|_
- Average Z(p ) vs p'TeaOI (Nl <25, p_>0.1GeV) =
[ m ATLAS _
~  --i3-- Herwig 7.1.4 default B
- —— Pythia 8.308 default —
¢ Sherpa 2.2.9 default ]
_I | | | | | | | | | | | | | | | | |_
:I T | T T | T T T | T T T | T T T |:
N . N ]
- ¢ o A D
I O S -
. e ot ¢ B
] "y e 4 |
1 1 | 1 1 | 1 1 1 | 1 1 1 | 1 1 1 |
2 4 6 8 10

P, (leading track) [GeV]

Rivet 3.1.10, = 400k events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


